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Abstract of the contribution: In this contribution, a new key issue is proposed to address the relocation of the user plane node during UE mobility procedures.
1. Discussion
During UE mobility procedures, e.g. Tracking Area Update, Handover etc., there is a possibility that the target RAN node is not connected to the user plane node currently serving the UE. This is because it cannot be assumed that every RAN node is connected to every user plane node in an operator network. In consequence, there is a need to relocate user plane node while the control plane node can be kept unchanged. Since the user plane node is closer to the RAN node, more frequent relocations may occur compared to SGW relocations. At the same time, any impact on services currently used by the UE needs to be minimized or avoided, ideally. Due to these aspects and the additional flexibility in the user plane node selection and positioning it should be worthwhile to have a separate key issue for this topic.
2. Proposal

It is proposed that the following text is added into TR 23.714 as a new key issue.
****** Start of change ******
5.x
Key Issue x - User plane node relocation due to UE mobility
UE mobility procedures may lead to situations wherein the target RAN node is not connected to the UPN currently serving the UE (as it cannot be assumed that every RAN node is connected to every UPN in an operator network). While the CPN can be kept unchanged, another UPN needs to be chosen and instructed to provide the necessary user plane functionality. Any impact on services currently used by the UE needs to be minimized.

Therefore, at least the following questions need to be addressed:

-
In which procedures can a UPN relocation happen and how to determine that a UPN relocation is required?

-
How to ensure minimum impact, e.g. realize service continuity, on the services currently used by the UE?
-
Which entity selects the target UPN and what interactions are required?
****** End of change ******
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